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DI Mixed Chart No.85

Directions : Study the following bar and table chart carefully and answer the questions
given beside.

The bar graph given below gives the information about the number (in lakhs) of personal
computers sold worldwide in 2017 and 2018.
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The table given below gives the information about the percentage of personal computers
sold in India over the total number of personal computers sold worldwide.

Company/Year|2017 (2018
Dell 20% | 18%
Compaq 15% | 12%

HP 26% | 30%
Toshiba 8% | 7%

IBM 9% | 12%
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1. Of all the five companies together, the total number of personal computers sold in
India in 2018 was how many more than that of 2017?

A. 3 lakhs B. 3.1 lakhs C. 2.9 lakhs D. 2.7 lakhs E. None of these
2. In 2017 and 2018 together, the number of Toshiba personal computers sold in

worldwide except India was how much more than that of IBM personal computers
sold in worldwide except India?

A. 26.84 lakhs B. 24.94 lakhs C. 22.82 lakhs D. 18.24 lakhs E. None of these

3. In 2017 and 2018 together, the number of Dell personal computers sold in India
was how much less than that of HP personal computers sold in India?

A. 12.02 lakhs B. 12.12 lakhs C. 13.42 lakhs D. 14.62 lakhs E. None of these

4. From 2017 to 2018, what was the percentage decrease in sales of Toshiba personal
computers in India?

A.24.25% B. 30.25% C. 18.75% D. 17.75% E. None of these

5. In 2018, number of personal computers sold by which of the following companies
was second lowest in India?

A. Toshiba B. Dell C. HP D. Compaq E. IBM

Correct Answers:
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Common explanations :

Company/Year | In 2017 (in lakhs) | In 2018 (in lakhs)
Dell 20% 0f32=6.4 | 18% of 35=6.3
Compaq 15% of 18=2.7 | 12%0f20=2.4
HP 26% of 42 =10.92| 30% of 46 =13.8
Toshiba 8% of 28 =2.24 | 7% of 26 =1.82
IBM 9% of 12=1.08 | 12% of 16 =1.92
Total 23.34 26.24
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Answers:

1.

Following the common explanation, we get
The required difference = 26.24 — 23.34 = 2.9 lakhs

Hence, option C is correct.

Following the common explanation, we get

In 2017 and 2018 together, the number of Toshiba personal computers sold in worldwide except
India = 28 + 26 — 2.24 — 1.82 = 49.94 lakhs

The number of IBM personal computers sold in worldwide except India=12 + 16 —1.08 —1.92 = 25
lakhs

The required difference = 49.94 — 25 = 24.94 lakhs

Hence, option B is correct.

Following the common explanation, we get

In 2017 and 2018 together, the number of Dell personal computers sold in India=6.4 + 6.3 =12.7
lakhs

The number of HP computers sold in India = 10.92 + 13.8 = 24.72 lakhs
The required difference = 24.72 — 12.7 = 12.02 lakhs

Hence, option A is correct.

Following the common explanation, we get
In 2017, the total sales of Toshiba computers in India = 2.24 lakhs
In 2018, the total sales of Toshiba computers in India = 1.82 lakhs

(224-1.82)x100 _ 42
2.24 T 224

The reqd. % decrease = =18.75%

Hence, option Cis correct.

Following the common explanation, we get

From the above table, it is clear that number of personal computers sold by IBM was the second
lowest in India.

Hence, option E is correct.
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